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PR moan | BPE |meax| A5 | JN =R D S Ecnf5 S com | = Son | ane |mwrm| BT (mess| 05 D %Eﬁf/ f . i :: T %: ;R % Tar | An%

Llgst A B B/A% c o/B% |RELE| B Z%’J}f 3 1,2 AS 1 omR | B U [ ope | oas E F F/E% G o/F% | mmh | zof | BEE | OFR | T L | e | oEs
OB 2 B F 1,387 47 34 40 85.1 1 1 2 2 15 0 8 11 8.51 0.29 44 3 6.8 1 33.3 0 0 0 1 0 0.00 0.00

K O F Tir £ 2 8 # 3,032 68 2.2 60 88.2 0 0 0 2 16 0 22 20 0.00 0.00 116 7 6.0 5 71.4 1 0 0 1 3| 14.29 0.86
w =2 2 # 4,419 115 26 100 87.0 1 1 2 4 31 0 30 31 3.48 0.09 160 10 6.3 6 60.0 1 0 0 2 3| 10.00 0.63

EE | 500 18 3.6 15 83.3 0 1 0 6 4 0 3 1 5.56 0.20 2 1 50.0 1] 100.0 0 0 0 0 1 0.00 0.00

ko f&l e £ 2 3 % 1,462 19 1.3 18 94.7 0 0 0 0 3 1 10 4 0.00 0.00 4 1 250 1| 100.0 0 0 0 0 1 0.00 0.00
® =2 © # 1,962 37 1.9 33 89.2 0 1 0 6 7 1 13 5 2.70 0.05 6 2 333 2| 100.0 0 0 0 0 2 0.00 0.00

OB 2 B F 320 14 44 12 85.7 0 1 0 2 5 0 3 1 714 0.31 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00

*x W Heg & =28 o 799 11 1.4 10 90.9 0 0 0 0 2 0 5 3 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w =2 2 & 1,119 25 22 22 88.0 0 1 0 2 7 0 8 4 4.00 0.09 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00

- | 302 15 5.0 12 80.0 0 0 0 4 2 0 2 4 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00

INE E TR £ 2 B B 2,324 28 1.2 24 85.7 0 0 1 2 5 0 10 6 3.57 0.04 2 1 0.0 1 0.0 0 0 0 0 1 0.00 0.00
® =2 B # 2,626 43 1.6 36 83.7 0 0 1 6 7 0 12 10 2.33 0.04 2 1 0.0 1 0.0 0 0 0 0 1 0.00 0.00

OB 2 B F 186 7 3.8 4 5741 0 0 0 1 1 0 0 2 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00

W OB Hg == B3 637 5 0.8 3 60.0 0 0 0 0 0 0 2 1 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w =2 2 # 823 12 1.5 7 58.3 0 0 0 1 1 0 2 3 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00

- | 139 3 2.2 2 66.7 0 0 0 1 0 0 0 1 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00

K % Hlge £ 2 2 % 453 3 0.7 3| 100.0 0 0 0 0 1 0 1 1 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w % B A 592 6 1.0 5 83.3 0 0 0 1 1 0 1 2 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00

#H OB 2 ¥ A 2,834 104 3.7 85 81.7 1 3 2 16 27 0 16 20 5.77 0.21 46 4 8.7 2 50.0 0 0 0 1 1 0.00 0.00

Zé F &g FV)qj ® F 2 P A 8,707 134 1.5 118 88.1 0 0 1 4 27 1 50 35 0.75 0.01 122 9 74 7 77.8 1 0 0 1 5| 11.11 0.82
w = # # 11541 238 2.1 203 85.3 1 3 3 20 54 1 66 55 294 0.06 168 13 7.7 9 69.2 1 0 0 2 6 7.69 0.60

- | 1,157 53 46 48 90.6 1 0 0 3 26 0 11 7 1.89 0.09 109 6 55 6 0.0 0 1 0 1 4 0.00 0.92
Ofbiahmie £ 2 B & 3,473 62 1.8 54 87.1 0 0 0 1 24 1 9 19 0.00 0.00 499 15 3.0 15| 100.0 0 0 2 2 11 0.00 0.00
® =2 © # 4,630 115 25 102 88.7 1 0 0 4 50 1 20 26 0.87 0.02 608 21 35 21| 100.0 0 1 2 3 15 476 0.16

OB 2 B F 527 15 2.8 10 66.7 0 0 0 1 5 0 1 3 0.00 0.00 34 2 59 2| 100.0 1 0 0 0 1| 50.00 2.94

B OB e s =2 o3 2,951 41 1.4 36 87.8 0 0 1 0 12 0 9 14 2.44 0.03 382 20 5.2 19 95.0 2 0 2 2 13| 10.00 0.52
w =2 2 & 3,478 56 1.6 46 82.1 0 0 1 1 17 0 10 17 1.79 0.03 416 22 53 21 95.5 3 0 2 2 14| 13.64 0.72

B | 1,684 68 4.0 58 85.3 1 0 0 4 31 0 12 10 1.47 0.06 143 8 5.6 8| 100.0 1 1 0 1 5| 25.00 1.40

& {é % % 7;; £ 2 2 #F 6,424 103 1.6 90 87.4 0 0 1 1 36 1 18 33 0.97 0.02 881 35 4.0 34 97.1 2 0 4 4 24 5.71 0.23
w2 B F 8,108 171 21 148 86.5 1 0 1 5 67 1 30 43 1.17 0.02 | 1,024 43 4.2 42 97.7 3 1 4 5 29 9.30 0.39
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Llgst A B B/A% o/B% |RELE| B Z%’J}f 1,2 AS 1 omR | B U [ ope | oas E F F/E% o/F% | mmh | zof | BEE | OFR | T L | e | oEs
OB 2 B F 313 10 32 10 | 100.0 0 0 0 0 4 0 3 3 0.00 0.00 4 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
EEKXKBTE £ 2 & 3 1,303 6 0.5 6| 100.0 0 0 0 0 3 0 0 3 0.00 0.00 23 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w =2 2 # 1,616 16 1.0 16 | 100.0 0 0 0 0 7 0 3 6 0.00 0.00 27 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
-S| 588 14 24 12 85.7 0 0 0 1 3 0 3 5 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
B W e £ 2 2 o 1,407 20 1.4 18 90.0 0 0 0 0 8 0 6 4 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w % B A 1,995 34 1.7 30 88.2 0 0 0 1 11 0 9 9 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
OB 2 B F 491 13 2.6 12 923 0 0 0 1 5 0 4 2 0.00 0.00 0 0 0 0.0 0 0 0 0 0 0.00
EEXKEHeE £ 2 & 3 2,032 20 1.0 18 90.0 0 0 0 1 3 0 5 9 0.00 0.00 4 0 0.0 0 0 0 0 0 0 0.00
w =2 2 & 2,523 33 1.3 30 90.9 0 0 0 2 8 0 9 11 0.00 0.00 4 0 0.0 0 0 0 0 0 0 0.00
- | 165 7 4.2 6 85.7 0 0 0 0 3 0 1 2 0.00 0.00 6 0 0.0 0 0 0 0 0 0 0.00
X F BTje & 2 B # 330 4 1.2 3 75.0 0 0 0 0 0 0 0 3 0.00 0.00 6 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w % B A 495 11 2.2 9 81.8 0 0 0 0 3 0 1 5 0.00 0.00 12 0 0.0 0 0 0 0 0 0 0.00
#H OB 2 ¥ A 1,557 44 28 40 90.9 0 0 0 2 15 0 11 12 0.00 0.00 10 0 0.0 0 0 0 0 0 0 0.00
E E!;;Fﬁ_jséﬁ ﬁ ® F 2 P A 5,072 50 1.0 45 90.0 0 0 0 1 14 0 11 19 0.00 ( 0.00 33 0 0.0 0 0 0 0 0 0 0.00
“w 2 B F 6,629 94 1.4 85 90.4 0 0 0 3 29 0 22 31 0.00 0.00 43 0 0.0 0 0 0 0 0 0 0.00
EE | 1,305 40 3.1 35 87.5 1 0 0 0 12 0 6 16 2.50 0.08 146 2 1.4 2| 100.0 0 0 0 0 2 0.00 0.00
=] I Thig £ 2 B A 2,954 75 25 68 90.7 0 0 0 1 21 0 9 37 0.00 0.00 460 8 1.7 8| 100.0 0 0 0 3 5 0.00 0.00
® =2 © # 4,259 115 2.7 103 89.6 1 0 0 1 33 0 15 53 0.87 0.02 606 10 1.7 10 | 100.0 0 0 0 3 7 0.00 0.00
OB 2 B F 140 4 29 4| 100.0 0 0 0 0 1 0 3 0 0.00 0.00 3 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
5 & e s =2 580 3 0.5 3| 100.0 0 0 0 0 1 0 2 0 0.00 0.00 12 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w =2 2 # 720 7 1.0 71 100.0 0 0 0 0 2 0 5 0 0.00 0.00 15 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
- | 347 15 43 15| 100.0 0 0 0 4 6 0 4 1 0.00 0.00 1 0 0.0 0 0 0 0 0 0 0.00
It % W e £ 2 2 3 856 5 0.6 5| 100.0 0 0 0 0 0 0 3 2 0.00 0.00 8 1 12.5 1 0.0 0 0 0 0 1 0.00 0.00
® =2 © # 1,203 20 1.7 20| 100.0 0 0 0 4 6 0 7 3 0.00 0.00 9 1 11.1 1] 100.0 0 0 0 0 1 0.00 0.00
EE | 1,792 59 3.3 54 91.5 1 0 0 4 19 0 13 17 1.69 0.06 150 2 1.3 2| 100.0 0 0 0 0 2 0.00 0.00
gq IR FV)qj ® F 2 P A 4,390 83 1.9 76 91.6 0 0 0 1 22 0 14 39 0.00 ( 0.00 480 9 1.9 9| 100.0 0 0 0 3 6 0.00 ( 0.00
“w 2 B F 6,182 142 2.3 130 91.5 1 0 0 5 41 0 27 56 0.70 0.02 630 11 1.7 11| 100.0 0 0 0 3 8 0.00 0.00
- | 376 6 1.6 4 66.7 0 0 0 0 0 0 2 2 0.00 0.00 3 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
F3 H THie £ 2 3 % 1,522 21 1.4 18 85.7 0 1 1 0 5 0 9 2 9.52 0.13 4 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
® =2 © # 1,898 27 1.4 22 81.5 0 1 1 0 5 0 11 4 741 0.11 7 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
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OB 2 B F 341 14 41 9 64.3 0 0 0 1 3 0 3 2 0.00 0.00 6 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00

T #H wir & =2 8 3 1,585 23 15 19 82.6 0 0 0 1 10 0 6 2 0.00 0.00 7 0 0.0 0 0 0 0 0 0 0.00
w =2 2 # 1,926 37 1.9 28 75.7 0 0 0 2 13 0 9 4 0.00 0.00 13 0 0.0 0 0 0 0 0 0 0.00

EIE - | 7117 20 238 13 65.0 0 0 0 1 3 0 5 4 0.00 0.00 9 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00

g H &R 2 %—f ® £ 2 ¥ F 3,107 44 1.4 37 84.1 0 1 1 1 15 0 15 4 4.55 0.06 11 0 0.0 0 0 0 0 0 0 0.00
® o2 B F 3,824 64 1.7 50 781 0 1 1 2 18 0 20 8 3.13 0.05 20 0 0.0 0 0 0 0 0 0 0.00

OB 2 B F 575 24 42 12 50.0 0 0 0 2 3 0 3 4 0.00 0.00 4 0 0.0 0 0 0 0 0 0 0.00

B 1B e s =28 3 1,497 25 1.7 14 56.0 0 0 0 2 4 0 4 4 0.00 0.00 11 0 0.0 0 0 0 0 0 0 0.00
w =2 2 & 2,072 49 24 26 53.1 0 0 0 4 7 0 7 8 0.00 0.00 15 0 0.0 0 0 0 0 0 0 0.00

EE | 748 34 45 25 73.5 0 0 0 1 9 0 7 8 0.00 0.00 21 2 0.0 1 0.0 0 0 0 0 1 0.00 0.00

b W Thie £ 2 B 2,487 48 1.9 36 75.0 0 0 0 1 10 0 11 14 0.00 0.00 39 3 0.0 2 0.0 0 0 0 0 2 0.00 0.00
w % B A 3,235 82 25 61 74.4 0 0 0 2 19 0 18 22 0.00 0.00 60 5 0.0 3 0.0 0 0 0 0 3 0.00 0.00

OB 2 B F 368 17 46 10 58.8 0 0 0 3 1 0 5 1 0.00 0.00 3 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00

B Ok e £ 2 o8 1,490 26 1.7 14 53.8 1 0 0 0 1 0 7 5 3.85 0.07 5 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w =2 2 # 1,858 43 2.3 24 55.8 1 0 0 3 2 0 12 6 2.33 0.05 8 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00

B | 1,691 75 44 47 62.7 0 0 0 6 13 0 15 13 0.00 0.00 28 2 71 1 50.0 0 0 0 0 1 0.00 0.00

g * 1R 42 %—f ® £ 2 ¥ F 5,474 99 1.8 64 64.6 1 0 0 3 15 0 22 23 1.01 0.02 55 3 5.5 2 66.7 0 0 0 0 2 0.00 0.00
® o2 B F 7,165 174 24 111 63.8 1 0 0 9 28 0 37 36 0.57 0.01 83 5 6.0 3 60.0 0 0 0 0 3 0.00 0.00

OB 2 B F 993 39 39 28 71.8 0 0 0 2 10 0 5 11 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00

B % e £ 2 2 #F 2,538 47 1.9 37 78.7 0 0 0 1 14 0 14 8 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w =2 2 # 3,531 86 24 65 75.6 0 0 0 3 24 0 19 19 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00

- | 917 45 4.9 30 66.7 0 0 0 3 11 0 7 9 0.00 0.00 28 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00

B F te £ 2 2 37 1,440 23 1.6 20 87.0 0 0 0 2 4 0 4 10 0.00 0.00 91 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w % B A 2,357 68 29 50 73.5 0 0 0 5 15 0 11 19 0.00 0.00 119 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00

OB 2 B F 471 18 3.8 15 83.3 1 0 0 1 7 0 4 2 5.56 0.21 18 1 5.6 0 0.0 0 0 0 0 0 0.00 0.00

M & e £ =28 35 1,320 17 1.3 11 64.7 0 0 0 0 2 1 8 0 0.00 0.00 39 1 2.6 0 0.0 0 0 0 0 0 0.00 0.00
w =2 2 & 1,791 35 20 26 743 1 0 0 1 9 1 12 2 2.86 0.06 57 2 3.5 0 0.0 0 0 0 0 0 0.00 0.00

EE | 1,042 30 29 19 63.3 0 0 0 2 7 0 6 4 0.00 0.00 56 3 5.4 3| 100.0 0 0 0 2 1 0.00 0.00

& A THir £ 2 3 & 2,461 22 0.9 18 81.8 0 0 0 0 3 0 9 6 0.00 0.00 199 9 4.5 7 71.8 0 0 0 4 3 0.00 0.00
® =2 © # 3,503 52 15 37 71.2 0 0 0 2 10 0 15 10 0.00 0.00 255 12 4.7 10 83.3 0 0 0 6 4 0.00 0.00
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Llgst A B B/A% o/B% |RELE| B Z%’J}f 3 1,2 AS 1 omR | B U [ ope | oas E F F/E% o/F% | mmh | zof | BEE | OFR | T L | e | oEs
OB 2 B F 100 7 7.0 7| 100.0 0 0 0 0 4 0 2 1 0.00 0.00 4 1 0.0 0 0.0 0 0 0 0 0 0.00 0.00
AR Hg £ 2 B oA 220 6 2.7 6 0.0 0 0 0 1 1 0 1 3 0.00 0.00 5 0 0.0 0 0 0 0 0 0 0.00
w =2 2 # 320 13 41 13| 100.0 0 0 0 1 5 0 3 4 0.00 0.00 9 1 11.1 0 0.0 0 0 0 0 0 0.00 0.00
-S| 684 24 35 15 62.5 0 0 0 2 7 0 2 4 0.00 0.00 6 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
A ThHie £ 2 2 o3 1,175 31 2.6 19 61.3 0 0 0 1 7 0 4 7 0.00 0.00 10 1 10.0 1 0.0 0 0 1 0 0 0.00 0.00
® =2 © # 1,859 55 30 34 61.8 0 0 0 3 14 0 6 11 0.00 0.00 16 1 6.3 1 0.0 0 0 1 0 0 0.00 0.00
OB 2 B F 162 7 43 5 71.4 0 0 0 1 2 0 0 2 0.00 0.00 6 0 0.0 0 0 0 0 0 0 0.00
OB He £ =2 o 265 3 1.1 1 333 0 0 0 0 0 0 0 1 0.00 0.00 10 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w =2 2 & 427 10 2.3 6 60.0 0 0 0 1 2 0 0 3 0.00 0.00 16 0 0.0 0 0 0 0 0 0 0.00
B | 4,369 170 3.9 119 70.0 1 0 0 11 48 0 26 33 0.59 0.02 118 5 4.2 3 60.0 0 0 0 2 1 0.00 0.00
g’?“ﬁ{%ﬁg%—f ® £ 2 ¥ F 9,419 149 1.6 112 75.2 0 0 0 5 31 1 40 35 0.00 0.00 354 11 3.1 8 72.7 0 0 1 4 3 0.00 0.00
#w = ® # 13788 319 23 231 72.4 1 0 0 16 79 1 66 68 0.31 0.01 472 16 34 11 68.8 0 0 1 6 4 0.00 0.00
OB 2 B F 1,040 45 43 37 82.2 0 0 0 6 14 0 9 8 0.00 0.00 38 3 7.9 3| 100.0 0 0 0 1 2 0.00 0.00
+ F e £ 2 8 2,570 38 15 37 97.4 0 0 0 1 11 0 11 14 0.00 0.00 il 3 4.2 3| 100.0 0 0 0 1 2 0.00 0.00
w =2 2 # 3,610 83 2.3 74 89.2 0 0 0 7 25 0 20 22 0.00 0.00 109 6 55 6| 100.0 0 0 0 2 4 0.00 0.00
- | 632 20 3.2 20| 100.0 0 0 0 2 9 0 7 2 0.00 0.00 12 0 0.0 0 0 0 0 0 0 0.00
A 53] e £ 2 3 % 1,386 22 1.6 17 71.3 0 0 0 0 5 0 6 6 0.00 0.00 19 2 10.5 2| 100.0 0 0 0 1 1 0.00 0.00
® =2 © # 2,018 42 2.1 37 88.1 0 0 0 2 14 0 13 8 0.00 0.00 31 2 6.5 2| 100.0 0 0 0 1 1 0.00 0.00
OB 2 B F 160 7 44 5 71.4 0 0 0 0 3 0 0 2 0.00 0.00 1 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
X B Fe s =2 o 691 7 1.0 6 85.7 0 0 0 1 1 0 3 1 0.00 0.00 13 1 1.1 1] 100.0 0 0 0 1 0 0.00 0.00
w =2 2 # 851 14 1.6 11 78.6 0 0 0 1 4 0 3 3 0.00 0.00 14 1 71 1| 100.0 0 0 0 1 0 0.00 0.00
- | 446 11 25 9 81.8 0 0 0 2 3 0 2 2 0.00 0.00 16 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
pr R BTje & 2 B # 964 14 1.5 13 92.9 0 0 0 1 5 0 1 6 0.00 0.00 28 2 71 2 0.0 0 0 0 0 2 0.00 0.00
w % B A 1,410 25 1.8 22 88.0 0 0 0 3 8 0 3 8 0.00 0.00 44 2 45 2 0.0 0 0 0 0 2 0.00 0.00
OB 2 B F 305 13 43 13| 100.0 1 0 0 2 6 0 3 1 7.69 0.33 9 2 222 2 0.0 0 0 0 0 2 0.00 0.00
75‘?’5‘%75‘55 ® F 2 B A 631 11 1.7 8 72.7 0 0 0 0 4 0 2 2 0.00 0.00 19 3 15.8 3| 100.0 0 0 0 1 2 0.00 0.00
w =2 2 & 936 24 2.6 21 875 1 0 0 2 10 0 5 3 417 0.11 28 5 17.9 5| 100.0 0 0 0 1 4 0.00 0.00
B | 2,583 96 3.7 84 87.5 1 0 0 12 35 0 21 15 1.04 0.04 76 5 6.6 5| 100.0 0 0 0 1 4 0.00 0.00
é R %—f ® £ 2 ¥ F 6,242 92 1.5 81 88.0 0 0 0 3 26 0 23 29 0.00 0.00 150 11 7.3 11| 100.0 0 0 0 4 7 0.00 0.00
w2 B F 8,825 188 21 165 87.8 1 0 0 15 61 0 44 44 0.53 0.01 226 16 71 16 | 100.0 0 0 0 5 11 0.00 0.00




FrRi28FEEFEENARE (BE, (kB0 = [WETHRI] (&) KERBTHRZDE) PREMEERZE ) TREITHRRZE )

(BB %) (BAGT: A, %)
R4 it & #® 2 & ) % 2
PR sear | BUE |mess| BT | A5 RE#A D . O com | = ein | anw [sean| BPF |mess| B | LR %Eﬁf/ f i i :: ) %: ;R % i | an
LEEs A B B/A% c c/B% |BELE| B Z%’J}f 3 1.2 AS 1 omR | B U [ ope | oas E F F/E% G o/F% | mah | tom | BEE | OFR | B L | e | wEs
OB 2 B F 3,757 124 3.3 109 87.9 2 0 1 10 48 1 19 28 2.42 0.08 98 6 6.1 6| 100.0 1 0 0 0 5| 16.67 1.02
DK I g £ 2 & # 6,565 100 15 89 89.0 0 0 1 1 38 0 19 30 1.00 0.02 187 7 3.7 7| 100.0 1 0 0 0 6| 14.29 0.53
#w = 2 # 10322 224 22 198 88.4 2 0 2 11 86 1 38 58 1.79 0.04 285 13 4.6 13| 100.0 2 0 0 0 11| 15.38 0.70
-S| 586 21 3.6 15 71.4 1 0 0 4 7 0 3 0 4.76 0.17 11 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
=< 'i;ﬁ‘ﬁ Bl ® £ 2 ¥ F 1,035 13 1.3 12 92.3 0 0 0 0 5 0 5 2 0.00 0.00 24 1 4.2 0 0.0 0 0 0 0 0 0.00 0.00
w % B A 1,621 34 2.1 27 79.4 1 0 0 4 12 0 8 2 2.94 0.06 35 1 29 0 0.0 0 0 0 0 0 0.00 0.00
EE | 4,343 145 3.3 124 85.5 3 0 1 14 55 1 22 28 2.76 0.09 109 6 5.5 6| 100.0 1 0 0 0 5| 16.67 0.92
é('iﬁﬁ;ﬁ ® F 2 P A 7,600 113 1.5 101 89.4 0 0 1 1 43 0 24 32 0.88 0.01 211 8 338 7 87.5 1 0 0 0 6| 12.50 0.47
w = # A& 11,943 258 22 225 87.2 3 0 2 15 98 1 46 60 1.94 0.04 320 14 44 13 92.9 2 0 0 0 11| 1429 0.63
- | 666 28 4.2 26 92.9 0 0 0 0 16 0 6 4 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
¥ O e £ 2 B o3 4,449 72 1.6 60 83.3 0 0 0 1 22 0 24 13 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w % B A 5115 100 20 86 86.0 0 0 0 1 38 0 30 17 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
OB 2 B F 451 15 3.3 14 93.3 0 0 0 1 2 0 7 4 0.00 0.00 11 4 36.4 3 75.0 0 0 0 0 3 0.00 0.00
#® OW e £ 2o o# 1,064 12 1.1 9 75.0 0 0 0 1 3 0 3 2 0.00 0.00 11 3 27.3 2 0.0 0 0 0 1 1 0.00 0.00
w =2 2 # 1,515 27 1.8 23 85.2 0 0 0 2 5 0 10 6 0.00 0.00 22 7 31.8 5 71.4 0 0 0 1 4 0.00 0.00
- | 209 9 43 9| 100.0 0 0 0 0 5 0 2 2 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
& i Hie £ 2 B & 2,142 28 1.3 25 89.3 0 0 0 0 11 0 9 5 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w % B A 2,351 37 1.6 34 91.9 0 0 0 0 16 0 11 7 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
#H OB 2 ¥ A 1,326 52 3.9 49 94.2 0 0 0 1 23 0 15 10 0.00 0.00 11 4 36.4 3 75.0 0 0 0 0 3 0.00 0.00
g' 7 R FV)qj ® F 2 P A 7,655 112 1.5 94 83.9 0 0 0 2 36 0 36 20 0.00 0.00 11 3 27.3 2 0.0 0 0 0 1 1 0.00 0.00
“w 2 B F 8,981 164 1.8 143 87.2 0 0 0 3 59 0 51 30 0.00 0.00 22 7 31.8 5 71.4 0 0 0 1 4 0.00 0.00
- | 373 12 3.2 9 75.0 0 0 0 1 7 0 1 0 0.00 0.00 13 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
T E Thig £ 2 B 1,175 14 1.2 14| 100.0 0 0 0 1 5 0 4 4 0.00 0.00 22 1 4.5 1| 100.0 0 0 0 1 0 0.00 0.00
® =2 © # 1,548 26 1.7 23 88.5 0 0 0 2 12 0 5 4 0.00 0.00 35 1 29 1] 100.0 0 0 0 1 0 0.00 0.00
OB 2 B F 645 25 39 22 88.0 0 0 0 3 9 0 8 2 0.00 0.00 4 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
® O e £ 2 3 1,416 11 0.8 10 90.9 0 0 0 1 3 0 2 4 0.00 0.00 10 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w =2 2 & 2,061 36 1.7 32 88.9 0 0 0 4 12 0 10 6 0.00 0.00 14 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
- | 471 18 3.8 15 83.3 1 0 1 0 7 0 4 2| 1111 0.42 0 0 0 0.0 0 0 0 0 0 0.00
b R Tir £ 2 3 % 1,970 28 1.4 18 64.3 0 1 0 0 5 0 4 8 3.57 0.05 1 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
® =2 © # 2,441 46 1.9 33 7.7 1 1 1 0 12 0 8 10 6.52 0.12 1 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00




Eri28EETFEENARE (T, A88) E=#E [HETF B (&) KERSTHRZLE) PREITBEZZE] TRIEITHRZDE
(BB %) (BAGT: A, %)
ETy w B ® % " ] ® D)
R sear | BUE |mess| BT | A5 RRIA D S T . com | = = Siw | hay |meam| PR |meew| 0% | RS %Ebf/ . i :: T %: ; ;R = e
Llgst A B B/A% o/B% |RELE| B gg% 3 1,2 AS 1 omR | B U [ ope | oas E F F/E% o/F% | mah | tom | BEE | OFR | B L | e | wEs
OB 2 B F 200 10 50 10 | 100.0 0 0 0 1 3 0 2 4 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
N F K Hg £ 2 2 & 687 10 15 9 90.0 0 0 0 0 6 0 1 2 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w =2 2 # 887 20 2.3 19 95.0 0 0 0 1 9 0 3 6 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
EIE - | 1,689 65 3.8 56 86.2 1 0 1 5 26 0 15 8 3.08 0.12 17 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
g R %—f ® £ 2 ¥ F 5,248 63 1.2 51 81.0 0 1 0 2 19 0 11 18 1.59 0.02 33 1 3.0 1| 100.0 0 0 0 1 0 0.00 0.00
® o2 B F 6,937 128 1.8 107 83.6 1 1 1 7 45 0 26 26 2.34 0.04 50 1 2.0 1] 100.0 0 0 0 1 0 0.00 0.00
OB 2 B F 705 30 43 28 93.3 1 0 0 3 10 0 8 6 3.33 0.14 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
& A Te s 2 B o 6,096 73 1.2 68 93.2 0 0 0 2 29 0 13 24 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w =2 2 & 6,801 103 1.5 96 93.2 1 0 0 5 39 0 21 30 0.97 0.01 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
- | 95 2 2.1 2| 100.0 0 0 0 0 0 0 2 0 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
ko = BTje & 2 B # 478 3 0.6 3| 100.0 0 0 0 0 1 0 0 2 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w % B A 573 5 0.9 5| 100.0 0 0 0 0 1 0 2 2 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
OB 2 B F 189 6 32 6| 100.0 0 0 0 0 3 0 3 0 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
b} BET® &# 2 2 & 1,249 13 1.0 11 84.6 0 0 0 0 4 0 4 3 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
w =2 2 # 1,438 19 1.3 17 89.5 0 0 0 0 7 0 7 3 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
B | 989 38 3.8 36 94.7 1 0 0 3 13 0 13 6 2.63 0.10 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
g R 2 %—f ® £ 2 ¥ F 7,823 89 1.1 82 92.1 0 0 0 2 34 0 17 29 0.00 0.00 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
® o2 B F 8812 127 1.4 118 92.9 1 0 0 5 47 0 30 35 0.79 0.01 0 0 0.0 0 0.0 0 0 0 0 0 0.00 0.00
o o2 ¥ & 25574 936 3.7 765 81.7 10 3 4 79 308 1 184 176 1.82 0.07 717 36 5.0 30 83.3 2 1 0 5 22 8.33 0.42
s Bte = = » & 77,161 | 1,131 15 951 84.1 1 2 4 26 318 3 281 316 0.62 0.01] 2,341 90 3.8 81 90.0 4 0 5 18 54 4.44 0.17
# = B # 102,735| 2,067 20| 1,716 83.0 11 5 8 105 626 4 465 492 1.16 0.02 | 3,058 126 4.1 111 88.1 6 1 5 23 76 5.56 0.23




